ALCONVERSION AN

APPRQX . GAIN

I‘-——-Ax 50 x —+—|DOX—+—OGXA—+-———-— 50X IOX DATA USING
(GO0 KC.) L (@00 -~ 455 KC.) Tf4~55 e ) (455 KC) {49% K<) (400 A~ (400 A~ RCA RIDIER
CHANALYST
BOTTOM VIEW OF 12547 12 5"7 - 12s5a7 ‘, 50L 6 oT
TUBRE SOLKETS 13T DET & OSC I.F AH%L 2P DET. AF. & AVC. ouTrPUT
R8
ANT 220.000
o @
c23
F2) @ 180-250
@5."
@
L1
L.oorP
fa
@
ac
r748°3uL2 ®
3 E?.sn-
C 20
o-522,6)],
J - @ a 254
@ 5 j 3254 0-522. (s R2 VOL CONTR
¢ F-4 3.3 MEG 500,000 a
3-25 *£ - 0V. STOP AT
MAX AVC VOL|TaGE 50,000 0
e L ¥
.035 T
- |
- [
C25 7o a0 1-
Teo oo Lo = e
+ Al GT
e - ’5221-_ FIELD
Csz {REAR VIEW) —— GOS0 ————————t
SHOWN IN ”J’, J:_ C3'IOG + L5107 tE
BROADCAST POSITION CHASSIS COMMON WIRING MFD. VFD ]
GROUND INSULATED FROM
CHASSIS
VOLTAGES SHOULD HOLD WITHIN .
£ 20% WITH 17 V. AC SUPPLY. A’é?l‘)lc jli: Ll . _L
. MEASURED WITH 35ZSGT T S0LGGT 125A7 125K7 12sa7 +
CHANALYST OR VOLTOHMYST A A A A
MY CE Y
Alignment Procedure
Output Meter Alignment.—If this method is used connect )
the meter across the voice coil and turn the receiver volume Steps Cofi':!?:,{?;r_"h t:tt:::c. rad?ouz?al l:g::tfg:'er::t
control to maximum. oscillator to— to— to— peak output—
Electronic Voltmeter.—The electronic voltmeter in the 1 m-fl.{;aifd glg.lcg
Chanalyst or VoltQhmyst provides an unexcelled output indi- with 0.1 mfd. Quiet Point | Transformer
cator, It should be connected to the AVC bus. 466 ke | at 1,600 kc
2 lgSA7 ,grid end of dial (iﬂ. ICF’(
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Test Osalla_ tor.-—Co_ nnect the low side of the test oscillator with 0 p o, e
to the receiver chassis through a .01 mfd. capacitor. When
. . . . 3. Antenna term.
the electronic voltmetex: is used as an ahgmpent indicator the 3 in oorics et | 10 mee 10 me C21 (osc.)**
output of the test oscillator should be adjusted to produce 47 mmf. C23 (ant.)
several volts of AVC. With the output meter alignment yen rerma
method the test oscillator output should be kept as low as & in series with {1,600 kc | 1,800 ke C14 (osc.)
pc,ssible. 200 mmid.
Power-Supply Polarity.—For operation on d-c, the power 5 Rm‘m 1,300 kc !:n"s: i;::f C16 (ant.)
plug must be inserted in the outlet for correct polarity. If the S cs 0
set does not function, reverse the plug. On a-«, reversal of ] Loop 600 kc 600 kc Rock in

the plug may reduce hum.

* Jt is recommended that this step be repeated using a received

station of known f{requency.
s+ Use minimum capacity if two peaks can be obtained.
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